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CHILD DEVELOPMENT AND PEDAGOGY

aret faenra wd foramomen |
There are 30 questions in all in this Section.
All questions are compulsory,
WEEHFA 307 T |
|t v s €

1. Which of the following statements is not true about the effects of malnutrition ?

l/(491)/11 affects the brain cells in the later years of life

(B) It affects the child's learning abilities
(C) The children tend to be depressed and nervous
(D) It affects growth in height.
FIF VA F AR A A T A FsR-m I aa T ¢ 2
@) St & A F aul | gw wfeass w1 S @ wataa e § o)
(B) & Werhl &1 €@ & argaie ®) ywifaa Fa ®
(€) = frm wd swifea wa &
(D) I F2 H wwifaa &
2.  Which of the following is not an outward expression during puberty ?
(A)  Rebellion against authority (B) Restlessness
(C) Assertion of independence \_/[D]/Prefer sedentary play to the active play.
7 wf g | e § 3 a9 am sfveafs @ & 2
(A)  wE / mn.ﬁ: faufta fadiu B) st

(C) senfasitan & wfa s (D) ofFg de F wF 42 @ w1 G sfuE w6 |

R 80z [ PTO.
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-

.

Which of the following statements is not in agreement with the development of middle
school children ?

(A)  The social behaviour is increasingly influenced by peer group norms
\JB)/Most children do not grow rapidly during this period

(C)  Self-efficacy becomes an important influence on intellectual and social behaviour

(D) Most of the students are typically self-centred.

fra F & #-w Fya fufea e @ & faofddl & faem @ wewfa =@ @ 2 .

(A) T SRR ITI SO e § e 8 wwitad g & ‘

(B) .39 saew § sAfemwiv aes a0 wfa § 3fe wra 781 w@

(©) wfgw vd amfos saer W @-wvifaa &1 ggeql gvE g §

(D) wfiwie faenef fady w9 @ wFfza aom &

Which of the following statements is correct about the relationship of learning and

maturation ?

Where human development is due to maturation alone, individual would be
reduced to a minimum.

(B) With the limitation of heredity potential, children can develop beyond a certain
limit,

(C) With increased effort children can learn even when they are not developmentally

ready to learn.

(D) Children’s innate capacities must be encouraged to develop without

consideration of time.
Hum vd sfrmm F mEw i e A - m sy aa € 2
@) A A faws e ftema A @ @ s dee e o @ i I
S T N F H 3w, wre s fifen d @ o w fawten @ T €

(B) -

- e faww F) 3fe | @ dimd § Tl fan 1w ¥ qa o 3 afus vam ¥ g O w
T

D o a1 srafifen wfedl = frn wwm e st =0 & Rl sherfen fean o
=fey |
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5.  One of the principles of development is that happiness varies at different periods in
the development pattern. According to this principle

(A)  the first year of life is usually the happiest period

(B) the puberty is the happiest period of life and the first year is also the happiest
period of life

(C) the puberty is the most unhappy period of life
ylhe first year of life is the happiest and the puberty is the most unhappy period
of life.

A

fawrg =1 1w awﬁlﬁ;mtﬁ;mmtfaﬁmmﬁqshfw—ﬁaﬁﬁt | 39 sAfufqan &
HIAR
(A SftaR #0199 9d gad sfus get w1 we o
(B) =9 ufy F@ wd sftaa w1 99w ad it Sga w1 gay Aty gt w1 e e
© Tt e S v s g e e
() a1 wew ad wad sfuw gt w1 @ a9 @y w1 gen afus gt we o
6.  which of the following contributes most in the learning and development of children ?
(A)  Family, Peer group and Television (B)  Family, Peer group and Teacher
(C) Family, Play and Computer (D)  Family, Play and Tourism.
= A & Fh-w wewl F afum v faea o wad afys demdm ® 2
() wfErR, T T s e %W,Wmaﬁtw
(€ uRER, @& & FEg (D) WfER, @@ e i |
7. To which of the following statements should a teacher agree ?

(A) Intrinsic motivation occurs when learners do something to experience external
satisfying results.

\Mrtnsic motivation occurs when learners do something to earn external

rewards.
(C) External rewards lead to permanent behaviour change.

(D) External rewards lead to intrinsic motivation.

(T (602 = - ‘ [ P.T.O.
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& s F) Fra F @ ey w99 @ gewm o afed 2

(A) s sfydTn 99 ddt ®, s sifumawdl 9 geeeEs oftomm #1 sva 3 & fod
Fd wE E |

B) = N 7| et #, sm fuasel @ e e w0 o TR e s €
(C) = TR | et syawn uftad g ¥ |
M) =TE YERR St Sfaloon yem @ ¥ o

-

8. A teacher gives a blank outline map that shows the location of rivers, mountains,
valley and plains etc. He asks students to figure out where the major cities. railways
and highways connecting the major cities might be located. Stuaents ar:e not permitted
to consult books or other maps. Here the teacher’s approach 1s

\_/m,/msoovery approach (B) Concept map

(&} i’robletn solving approach (D)  Enquiry approach.

s AT w0 we s § e e, verel, darl = e #) et w1
faenfi = q@7 7R, WA 7 g TR F e a@ ol ) fafgs w9 # Fwa @ fafdd
F 7Y TSI 9 WA F A HA F 7@ A T R ¥ 1 9wl sieEms F g wgE

I #
A @ I (B) wmfaa freao
(C) E W& §HIYE FYNTH D)  HFEATY I |

9.  Which of the following is not an example of Bandura's observational learning ?
(A)  Students learning of dissection of a&ﬂhworm -
(B) Enthusiasm about cricket
(C) Disdain for the study of social study
(D) Packing the school bag on ringing of school bell.
i 7 @ BFH-w 3T gy F e A sfem w2
() faenfedl gm F3 F fa=dea # dra
B) ¥z =1 3w
(C) wmIfSe sreaga & wia e
\}))’ @ﬁﬁm\mmﬂﬁﬁ:mﬁm |

L [ 602 |

New Section 1 Page 5



'w | ' 7 ST-2

10. Rajesh misses a month of school because of his illness. When he returns to gchool, he
does not know how to do his long division assignments. After a number of frustrating
experiences in which he fails long division problems, he feels anxious whenever he
encounters a division task. As per the classical conditioning theory emotional
unconditioned stimulus ( ucs ) is

(A}  Anxiety about failure {B— Failure / Frustration

(C) Long division problem (D) Anxiety about long division problems.

T M F e UE wE aF faaers T o | vm fawem @ 38 ym F ol waren &
FT T A | FE A F PR oyl § sawerd g1y o | o um o wael F 2w 6
gt faf<@ & o ® | Wt sgaaE fagrn & qafes games @vfas 399 §

Ay sTERE 1 FH B) HEFEAT / W
(€ e % e D) el o 35 el - e |
11. Which type of learning mainly influences personality of the child ?
(A} Trial and Error learning B fi:rEtaﬂon learning
(C) Insightful learning (D)  Instructional learning.
ATF F SAfFE F Y WER A Ay g F § 2
(A WIS wE A afem T S
AQ)  wgfeg sy D) SR ST

12.  Which of the following statements about individual differences is true ?

Q/&‘d/lf the intelligence level of the students is same, still the level of achievement will
be different.

(B)  All the children do not have some similarities. '
(C)  The curve showing individual differences is tilted to one direction or pole.
(D) Individual differences are due to heredity.
=i fafiemell @ safua e A A FR-m s wet & 2
A e forenfefdl 1 4fe = awm & 79 ff suefer § fafimm & vt €
wy O el ¥ FO ot TEa T@ T e
(€) =Afamma fafuwsmsll % @ dfe = feam w g o fom #1 s gw s &
(D) =fwTa fafiard dwen & FRo A ¥ 1

L [602] | P.T.O.

New Section 1 Page 6



iT-2 8

3.

The following is an example of

qrchitccture

Ancient ™
Egyptian
Art

Tombs

e O_Idﬂ““\ /" Middle Wall
‘\KLngdgT/ ngdom ' Frescos

,S—' hinx : Large Burial
P . Complexes .

(A} Diagram o (B) Model
Concept map : (D) Graph.
e o Semew @

Contents of

Jewellery

\
@n& Statue

HIeafyE gid -
Mt B Heww
Y0 wegI-mEfEE @@ D) o it o )
AWnmy 602 |
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14. Which of the following is not a projective technique ?

(A)  Play technique (B) Word association test
(C) Picture association test \_Bl/ Case study.

et o @ - aFTE AT e T ¥ 2

A EW T (B) W= wEwd wiEm

() fas se=d giam (D) =AfEETE HEEA |

15. Which of the following do not help in understanding the ethnic individual differences ?
(A)  Value system
(B) Verbal and non-verbal communication :
(C) Different learning arrang&nenta & processes
\,LDrl/lntelllgence.
weferra safema fafvmmms # gugm § fro § | 0 megm a@ifaw 7@ g 2
(A geR wEE B) e vd - FEm
(© firm Fi vfFardl wd fafm wmerd D) 3fE

16. Personality is the dynamic organisation within the individuat-ot those psycho-physical
systems that determine his unique adjustment to his environment. This definition of
personality is given by

(A) Murray (B) J. B. Watson

LS G. W. Allport (D) Skinner.

e =afe § 39 wAfes aeasdl &1 Tarws @1 § W A F 9g 39F_ayd guEe
%1 fryifa w7 # | =fea #t 28 sfovm & #

w (B) o o arzwm
(© o TEHo HEHE (D) AT |
17. The intelligence of children is generally tested by
Iyl/ﬂtt:m-\n:rball group intelligence tests (B) Verbal group intelligence tests

(C)  Non-verbal individual intelligence tests (D) Verbal individual intelligence tests.
sl
U AEHI H1 qE B AT g

W -afew wgE 3fs wheei ¥ gm ®) W W qfe vl F g
€ -afew =fFm e wieei & g (D) = sfEeTa qfg el ¥ ga |
NI - | 1o
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18.

19.

20.

Which of the following indicates the misuse of intelligence tests ?
A Use in assessment for promotion
uBl/I.Q. labels tagged to children are used by teachers as an excuse for inefficiency
(C)  Use in classifying children
(D)  Use for improving learning process.
fra 4 @ #h qfe sheul ¥ gFEm @ EFa 2@ € ?
() T F fed area d e
(B) Afc A F1 e AEwl W AN W AATE A A-Fyem F o ¥
(C) AEH F AMFa FAH
(D) ST wfEm #) e ¥ e
Which of the following is not a characteristic of backward children ?
(A)  The educational attainment falls below the level of their natural abilities.
(B) They are unable to keep pace with the normal school work.
(C)  Fall far behind other children of his age.
\(D'I/Posscss low intelligence.
foer §f & W frod g aer) @ v e & 2
A o v wew A & wn w9 Hiw Tueten o wE E
(B)  wny= famrerdt w14 & |y A fg 78 m@
© s 3 ¥ A @ FH o @ E |
(D) =% afg @ ¥ |

Which of the following is a direct method of adjustment ?

(A)  Projection (B) Repression

(C) Regression (D)  Substitution of Goals.
=1 9 A FFm adte yoe weEeE w2

(A) e ' B T

(€)  wfgmas \/rm/aw"f &1 wfeere |

LI [60a ] -
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21. Separate classes and enrichment programmes can be used for the education of

Dﬁ'd/glfted children

(B) low achiever children

(C) gifted and low-achiever children (D)  none of these.
Yy FEIS vE dadd wEwE w1 vam e F fod fam @

@ s e §

B) = g swefon el & ferd

€ gfqureneht wd fre dfers somfes se % fod

(D) = g W
22. Match the following and select the correct answer in the table :
List - A * List-B
L)  Fantasy can be classified as a defence machanism 1. Denial
M) . Defence mechanism protects individual form 2. Escape
N)  Sublimation can be classified as a defence mechanism 3. Substitution
0O) Compensation can be classified as a defence 4. Anxiety
mechanism
Codes :
L M N o
A 1 4 4 3
B 3 1 4 3
AT 2 4 3 3
D) 38 2 3 1.
=1 =1 frem & €2 & ¢ aferemn o @ wE I W wEA w1
| gt - o et -a

L)

M)

N)

0O)
wE
L

WL
B 3

€ 2
(D) 3

T T # UE W qF F w9 o aviiga s gwd § 1.
IeE 774 Al & 99 F ¢ 2.
S F EE 93 F w0 d wiiga Fm wwwsm s -3, Wi
gfayfd =1 wmers &3 & w9 F Fftga fea o g # .,

N'*th

W e e
- W W w e

(802 | PT.O.
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23. Students with academic difficulties face difficulty of
(A)  mallunction of the ear or associated nerves
t_B} abnormalities in spoken language
(C) reduced mental alertness
(D) deficit in practical and social intelligence.
Wi guEsil 9w e i fEE g w1 a9 S gEa €2
@) P 9368 I TE W W vER A F A w
B) N F Sien § SEmeEE w1
©) aAfas aferam 1 9 29 N
(D) =EEIiE TE g gfg § FH % EE |

24. Which of the following is a processing deficiency in students with learning
disabilities ?

LW/RemembeMg information involving numbers, poor sense of time and direction
(B)  Frequent hyperactive behaviour
(C) Little muscle control
(D) Reduced mental alertness.
Ffymy frataael am a3 wen T = § 3 e v #t w6 e w2

@)  Hemsi g gEmsl w AR w9 ¥, weg v fem w5 wwe

(B) 94: Irqfus wfing =gaer

(©  wEdfwE W wR

(D) &R wEAfas wfega |

25. The purpose of formative evaluation is to
\/W/ monitor progress and plan remedial instruction

(B) know the understanding of students
(C) know that teacher's objectives are fulfilled

(D) assign grades.

faforens geaiss #1389 ©

(A WIETT TR FHT UH SYARIHSE SRV HI A T
(B) frenfddi =t wum =1 v s

(C) =Fes & Iewdl &1 gfd &1 g &

(D) ¥gH Y& T |

IRINEI ’
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26.

27.

28.

13 ‘ ST-2
Which of the following steps of research makes research an action research ?
(A) Formulation of hypotheses
Action programme and final evaluation

(C) Generalization

(D) Rigid research design.
ﬁﬁﬁaaha-mmmm@uaﬂmmmmt ?

() IvFeTns 1

B) W w1 fFaraga @ sfon geaie

(©) @rEETETo

(D) Y HArFeq F1 FUAEEA / FSR EA | \

Which of the following problems is not suitable for action research ?

(A)  Improving handwriting of 5th class students in Hindi

(B) Study of the effect of using written praise on 7th Grade students’ behaviour as
compared to verbal praise

\/lGl/ Efficacy of computer aided instruction over traditional method.

(D) Use of Atlas and Globe in the learning of Geography.

fret & @ F1-w e frares srqeear & ford Sogaa e ¢ 2

@ &9 s wa F famfdd & ow d gun

@ 77 wu F faenfid & sren w fafas wwiw wd dfew wviw & gv@m w1 gees
S p ]

() wremrma fafy F TR Fege weafam SRvE 1 yvA

(D) i % sfamg ¥ veey vd e & 9E |

Which of the following is not addressed in the Right of Children To Free And
Compulsory Education Act, 2009 ?

(A)  Providing training facility for teachers

(B) Ensuring admission to children of migrants

(C) Deciding the academic calendar

\_/(D‘l/ Education after fourteen years.

AeTHleH AR A Afard foan w1 sfuwr, 2000 7 Fra § § fFE R wEm @ g 2
@) Ayl w wfaa w5 gfaw veT s [B)/mwﬁ%m!ﬁgﬁfmm
© uFfaw Fa=t w fuifa s (D) 1439 % gy 1t foen |

THTEEm ) [ P.T.O.
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29. In the National Curriculum Framework, 2005, the activities suggested celebration of
cultural and religious diversity of India. programmes to promote an attitude of respect
and responsibility lowards women and compile documentaries and feature films and
screen them that promote the values of justice and peace are for
\/W/ Education for Peace (B)  Education for Values
(C) Education for Citizenship (D)  None of these.
T TErEd '@, 2005 ¥ wra #1 uifdE vd wiepfas fafaum w1 gaen, fodl & wfa e
vd famgrt @ gfesm F1 ag@ & W & oEeE vd g9 faw aw feed # we s v
fear fa meam 4 =g w@ wita 9 3fg &1, F1 gama ™ € afs

() wif= =1 foen @ =1 9% B g = faw @ W wH
() Fmfrwa #1 foen & w1 w5 (D) T A wrd A
30. Maich the following and select the right answer from the table given below :
. List - A List - B
L)  Organising the experience of the seed germination 1. observing
process
M) A role play 2. questioning
N)  Dialogue on gender-differentiated practice in the 3. participating
family
Q)  Processing and packaging different kinds of 4. reflecting
products in dairy farm
Codes '
L M N. o
1 3 4 1
B) 2 3 2 1
c 3 1 3 3
D) 4 2 2 2.
fo= = faemm %@ &3 & afers § 3 9E I F 99w
=t - A et - &
L) o= sigfa 81 #1 Fva weE S 1. FEa w4
M yfge Fafe / @@ 2. W Y@
N) Mﬁmﬁmﬁmﬁmmmmm 3. WM
0) zvwmen # fafvw g9 F el #1 wiwa & 4,. fa=m /@@ %0

g fe=n 77 0

EOES

. L M N o
@ 1" 3 4 1
B) 2 3 2 1
c) 3 1 3 3
D) 4 2 2 2

e gl (eaa] .
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Hiveh -1 o
- &=

WA HFA 0T ¥ |
|/t woT wifrad €

1 e 1 wgt Frafafaa wedl ( we9 d@n 311 36 ) # wad faa fawen gfu .

AT wam F1 o § sEeida I € a@ Gl w) wW F ey # IE faunem F sEn
favifom w01 een € 1 uF @l A A @m oo ¥, 5 wm F 39 gfrw sravrwat F w9 § 2@ €
ot 39% foau awafim @ fad w7 ofee w01 1 3 sqve 5@ & 5 9@ @3 w1 99 5am @
T, AT AR E FA § R - AR & | vm A v F o oA, q® I
T vEEHAl WA ¥ | FM F A N IWW 23 F w fFEn 16 w9, FiF amed F o @
3% fad w1 1 sEvgEs ¥ g T F A o w1 A e 3R R wfd  m F o gam
F ®9 d 2@a € | 4 va gafen sar aed €, o o w1 A sifus uwfma & |y wufia @
o | fom Fm § 3 dora o ¥, suat qon F § )

31. fe o o o el &

@) B)  wEEEA
\_ley— e (D)  FEwEE |
32, '&m' ®agd €
@ & B FR
) = BO U (D) W |
33. ‘gam' % faeim #
@ wEm ()
(€) Em BT T
34. W~mﬁmﬁmﬁt ?
@  wEE - g st
@ v (D) o |

UL [ P.T.O.
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35. FATEE T L ?

() fEEmaT (B)  sew ufdm

(C) wfE LD F
36. ‘e’ & gy ¥ w1 v s # 2

W B M

( T Dy~ s

= e #1 vee Frefafas gt (W gen 379 43 ) ¥ e 3faa fawes 9fw

TR F ol e | fofea safe #t 5a@ el 9w g% @t € & 9w s gy | gam | s W
w1 HFET ¢ | Fae A § 2w ¥ fod fufim safe aw wwen s & S sl mgam F ga @
o 77, fmg sfish F fomst gam swfey €1 ) §9r & 5= 39 § e =afs a8 ww ma #
fomd o # sroft v it gt #1 gue € ol R aue 9w v © fE owet v F o= daw
3 wfa 9 ¥ a9 G9g-g99 W I -6 Ffea gwifa @ @ ¥ | wwa F feafa gEdt &
7ol W F we-gen F agiTE I @ e € e s s & w1 gew @ e
ferard =1 vzt | 9w qrEE v @ fFE tfaefos wfem #1 ofomm 2, feeg aw qew 9@, gEen
€@ % oih v a% g graew w99 ¥, T AW oW #, w6t adl F fufea s gEwa e W
FF- e e afan T8 § )
37. HuR F uvit 29l A fufym =fs

Jar wR ar § 2w w ¥ (B) s s &
€ m-frawa¥ (D) 39 W& W HEH ¥ F |
38. wuen ¥ famsl awar swfoy @' § vaitEa v w5 ad
g tfea B fafemm
€ gf+fraa (D) wfAfesa |
39, FHUF AT & ?
A =S TEE B) #FH-u Fiwl
Ier” st g (D) &3 2w |
40, #1F v Yfeem T & 2 '
w = VL
(C) IIFIW (D) 'ﬁ'!!ﬂ;'l
41, 'gm';:igaaat
A TR B)  ufwrd
) T=EwEE (D) H91

IR LI
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42. '‘wfa’ = wifem #

@A wfa - B e
© @faw P
43, 'wra ¥ feufs gudt &' #1 yawifes w9 gm
A v e feafy o ABT wwa ¥ feafa gu ot
(€ vra Ft feufa gt o D) g F feafa et ot |

44, HH F9F wE AL & 2
W amm & @1 wg@ 3 €8 §-wa sk fFa
(B) wal ¥ fawaw #1 IXvg wEa ¥
(€ fa & faear = fav #ea € )
\IBY T & SR W AT 9 YR F w6 E
45. ¢ UM IVATRE IR 4 A IvE R wm d 2

(A) HYE T . . (B) wfew am
©) wE A D) fam e |
46. A fag g ¥ ?
W TEE v T B o @ A g wm

AT Wgntfrgmifmrwfant O ax s dre & de s g ot T
47. 'Hreq W A ded FEd @ 5 S99 16 o w @' — 39 A § vaitey veay §

(A)  H gEEy .(B) fFa ygEy
O o fode (D) Y=Y duF TEEY |
48. ‘wren g @ w5 e

A HE WO e - (B) et @

© fows ds 5@ 1w 8 7@ D) T
49. '3 frwel w13 9 =1 wd @

A 3§ free wegd d a1 9 usr~ 4 A frweht am %o ot #
© A = Frwen o w8 s (D) " fwe W wfag € 9
50. ‘=idt ® g’ w1 waifaw 39w @ ¢ .
A TER T S ouAB feyera
(©) AT T D) anidt 1 femmEn |
51. v &t foan & weft
U sdfen sk sifveafs & fag B) fagm Tm ¥ fog

€ wrt & feg (D) wifewsr 7 F & fag |
AT - [ P.T.O.
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(a) s fafy
uer vuswa fafy
53. @A o & foem &1 sow g #
JAyT e et |
() favest wansi |
54. ZFAUS® BoNUS_
(A)  wfam =1 @
(C) 2w & AHIF
55. st wven H gfg & fou waffus sugs &
L T faor
() =T faam
56. #fumm F gega 4
A TR A o
(© wifgs g o
57. @@ %ol &1 fawmg dar &
(A I@IH

(C) 3 @

58. fe=t fogror & suafey &1 si9 1 o1 Gt &

A Iefer e @
() =EfmB e a
59. TWU 3R Waq qeAE

52. =E-IEae Ay fFgama s s ?

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)

AP

(B)

(D)

(a) faened % fow swErt v fogs & foag W @ 0D
j;ar H foeew ik ol F e e gmy smmst -7 |

Y s & @ oft ey @

Lﬂ/ﬁﬁﬁmﬁf%mﬁmmﬁﬂmmt |

60. IvaNTHE oo F feou smavas 7w €
forerm fafa =1 = @

(B) ﬁ?rﬁaﬁﬁsvﬂtﬂmﬁwﬁm?ﬂm

(C) ved fHeATas wiso T &4
(D) 379 § %1 7T |
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SECTION - II
LANGUAGE 1

PN G\LTM— T ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

Prose Passage 1 ( Q. Nos. 31 to 37)

Global warming 1s defined as the increase of the average temperature on earth. This
increase in the earth’s temperature is the cause of natural disasters which are
becoming increasingly frequent all over the world. Carbon dioxide, produced by the
use of chemicals and the burning of fuels, is the main cause of globgl warming. High
levels of carbon dioxide trap heat in the atmosphere. This can have serious
consequences for the climate of a region.
Global warming can cause many natural disasters. Prolonged and widespread
droughts, heavy floods, very severe storms and melting of glaciers are just some of
them. There will be more hurricances and cyclones in many parts of the world. 1t
seems that the world is totally unprepared to meet the crisis. Countries should get
together to find ways to check global warming. Vehicles, buildings, appliances, etc.
must display high standards of energy efficiency.

31. Tre word ‘totally’ is similar in meaning to

(A)  clearly (B) always
LSy~ completely (D) truly.
32. The oppoéite of ‘frequent’ is
JA—  infrequent (B)  unfrequent
: (C} disfrequent (D) antifrequent.
-33. Which of the following words is correctly spelt ?
(A)  Oppertunity (B)  Oportunity
(C) Oppartunity LDy~ Opportunity.
34. Pick out the correct noun formed from the adjective ‘high’ :
@  length B tal
e height (D)  hieght.
35. The phrase ‘lo make something last longer’ can be replaced with
(A) provide UBI/ prolong
(C)  longing (D) belong..
36. Which one of the followmg is opposite in meaning to the word ‘global’ ?
A Ehmvcrbdl L/[.Ed/ local
(C) urban . (D) rural,
37. Pick out the correct verb formed from the adjective ‘natural’ :
A} nature _ (B) naturalization

\_Qﬂaturalize (D) naturize.

AR - Y pro.
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Prose Passage II ( Q. Nos. 38 to 43 )

Health is usually defined as a state of complete physical, mental and social well-being
and does not consist in the mere absence of diseases and injuries. On the other hand.
wealth is defined as abundance of valuable possessions. Health is wealth simply
because a healthy life is life in all its abundance. joy and fulness. Without health, life
would be full of anxiety and fear about diseases and injuries. With health on our side,
life automatically seems to be full of happiness and laughter.

The best thing is to concentrate on being healthy and to avoid unhealthy activities. If
you strive for health, there will be others who will follow you, will be inspired by you
‘to have that mutual objective which is a healthy life. In this way, you can have many
more acquaintances and friends, and with more friends, obviously your life would be
happier and healthier. Anything that promotes health will almost always$ start and end
with joy.

38. The word ‘absenc
LA anoun (B) a verb

(C) an adjective (D) an adverb.
39. The word ‘always’ is

(A)  a conjunction 4B~ an adverb

(C}' anoun (D) an adjective.

40. In the second sentence of the first paragraph, the verb phrase ‘is defined' is in

A Simple Past Tense : \IB}— Simple Present Tense
(C) Past Cbntinuous Tense (D) Present Continuous Tense.
41. In the third sentence of the last paragraph ( In this way, ... ). the verb phrase is in
(A}  Present Perfect Tense (B) Simple Past Tense
{C) Present Continuous Tense _{Bj~ Simple Present Tense.
42. Which one of the following can have the determiner 'an’ ?
(&)  healthy activity (B)  strong hand
UC) activity (D)  injuries.
43. The adjective 'full in its superlative degree is
(A) most full (B) fuller
ey fullest (D) fullerest.

44. The passive voice form of the sentence “Global warming can cause many natural
disasters” will be '

(A} Memy natural disasters are caused by global warming
(BL—"Many natural disasters can be caused by global warming
(C)  Many natural disasters can caused by global warinlng
(D) Many natural disasters could caused by global warming.

T o [em) -
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45. Pick out the sentence with the correct passive voice form :
\/&ﬁa’ All the chairs have been repaired
(B)  All the chairs are been repaired
(C)  All the chairs have being rapaired
(D). All the chairs were been repaired.
46. Which of the following sentences has the correct structure of a question ?
(A}  Where average iemperature is increasing ?
(Bl  Where be average temperature increasing ?
LV’Where is average temperature increasing ?
(D)  Where does average temperature increasing ? . '

47. Pick out the question to which the sentence “Wealth is defined as abundance of
valuable possessions” will be an appropriate answer :

(A)  Why is wealth defined ?
(B} Who defines wealth as abundance of possessions ?
(C) When can we define wealth ?

LDy~ How is wealth defined ? .

48. Which of the following pairs of words has the same vowel sound ?

(A)  book, shoes \_/[BJ/ head, red
(Cy sign. sin (D) throw, three.
49. Which one of the following pairs bégins with the same consonant sound ?
(A} cat, city B) game, gym
v A€J~ know, name _ (D)  party, photo.

50. The correct transcription of the word ‘news’ is

\_/w’ /nju:z/ ' (B) /nlu:s/

) /nu:s/ M /nu:s/.
51. The role of English in India is that of
(a) the first language (B} the mother tongue
(C) a foreign language _ ‘}X_ a second language.
52. Pick omt the pair which falls under the category of expressive or productive language
skills : '
(A)  listening, speaking . (B) reéding:, writing
© listening, writing ‘\'{ﬁ(—spea}uﬂg, writing.

LT (02| - : [ PT.O.
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53.

54.

55.

56.

57.

58.

59.

60.

In the Bilingual method
(A) students are given complete freedom to use the mother tongue

(B he mother tongue is used by the teacher to explain the meanings of new words,
phrases, etc.

(C) the teacher teaches the entire lesson in the students’ mother tongue
(D) the teacher encourages students to use the mother tongue all the time.
lnlthe Situational Approach a teacher tries to
(A} follow a syllabus with a list of situations
(B) adjust teaching to the situation in the classroom

\,(21/ create a life-like situation in the classroom for teaching a l::u'ngwulagt“;L item

(D) show how the situation in the classroom is different from real-life situations.

Wtilch of the following pairs is usually described as receptive skills ?
(A) Listening, speaking . (B) Reading, writing ‘
._,(ej/ Listening, reading (D)  Speaking. writing.
The use of teaching-learning materials makes the activity of learning
(A) unnecessarily difficult (B) dull and challenging
(C) unnecessarily slow By~ easy and interesting.
Language lcarmng'is like learning
f/(k]/ a skill like cycling {(B) a subject like physics
(C)  a collection of facts as in history (D) abstract conceﬁts as in philosophy.
. Evaluation in education is
(A) continuous, but not cumulative (B} cumulative, hﬁt not cohtjnuous
(C} neither continuous nor cumulative V(—B’]’ both continuous and cumulative.
One of the requirements of a good language proficiency test is that it must be
(A} complex ' \/[B}/ reliable
(C) ambiguous (D) enjoyable.
An attainment test aims to measure

x./tﬁr how much a learner has learnt of what he has been taught

(B) how much a learner needs to learn to pass an examination
(C) the speaking ability of a learner
(D) the teaching ability of a teache:
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There are 30 questions in all in this Section.
All questions are'compulsory.

Prose ( Q. Nos. 61 to 65)

ST-2

Many thousands of years ago all men did all types of work. Each man built his own
house and made what furniture he needed and grew all his own food. His wife made

all the clothes for the family and cooked food.

However, men very soon found that it was much better to divide the work among
them, so that one built houses, another made furniture, and another grew corn, and
so on. You can easily see that this was a better plan, because by always doing the

—m o Wl B el e A e o e B Bl B o e e BB R e B e Vs B e W W e
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them, so that one built houses, another made furniture, and another grew corn, and
so on. You can easily see that this was a better plan, because by always doing the
same kind of work, you can do it far more quickly and easily. So nowadays all work is
divided as much as possible. Even such a tiny thing as a pin is not made by one man,
but by a dozen or more, each doing his particular bit of the work. One straightens out
the wire, another cuts it into lengths, another sharpens the point, another puts the
head on, and so forth. That is to say, work is divided among different people.

61 In the third sentence of the second paragraph, “So nowadays all work ..." the word 'so’

indicates
| effect ( of a cause ) (B) cause ( of an effect )
(C) similarity (D)  comparison.
62. The word ‘However' at the beginning of the second paragraph indicates
A a supporting idea . (B) anold idea
_ (C) an idea in the same direction UD)/ an idea in the opposite dlre;:uon.
63. Complete the following sentence with the correct verb form :
All work .......cociviiiniinnnn by all men
VW/ was done (B) were done
“ {C) has done (D) are done.
64. Which one of the following would be an appropriate title for the above passage ?
A} All Types of Work . (B)  Types of People
- LG Diviston of Labour (D)  Life in the Past.

b5, Tht‘r-_ author of the above passage is of the opinion that the way people worked
thousands of years ago was

(A)  better than the present (B) ~most proper
(C) most efficient by not efficient.

L] [ P.TO.

ST-2 48 | [w ]
Poem ( Q. Nos. 66 to 70) | .
The squirrel gloats o'er his accomplished hoard,
The ants have brimmed their garners with ripe grain,
And honey-bees have stored
The sweets of summer in their luscious cells :
The swallows all have winged across the main :
But here the Autumn melancholy dwells,
And sighs her tearful spells
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But here the Autumn melancholy dwells,
And sighs her tearful spells

Amongst the sunless shadows of the plain.

~ Alone, alone,

* Upon a mossy stone
She sits and reckons up the dead and gonc
With the last leaves for a love-rosary ;
Whilst all the withered world looks drearily,
Like a dim picture of the drowned past
In the hushed mind's mysterious far-away,
Doubtful what ghostly thing will steal the last
Into that distance, grey upon the grey.

66. Who has been personified in the above poem ?

, (A The squirrel UB The 5utumn season
(C) Honey-bees (D)  The summer season.
67. In the above poem line 2 rhymes with lines
Al land3 B) 4andé6
© 5and7 ' UBT~ 5 and 8.
68. . “Their garners with ripe grain” ( line 2 ) contains an example of
o A simile (B) metaphor
LIC}y— alliteration , (D)  personification.
69. Which of the following lines contain a simile ?
A lines 14 and 15 (B) lines 11 and 12
(C) lines3 and 4 : (D) lines 1 and 2.
70. The rhyme scheme of the last four lines of the poem ( line 14 to 17 ) is
' l/(&)/ abab (B) abe d
[©) abceb (D) abbhb.
71. The modal ‘may* can express the meaning of
(A) advice (B) _ability
e possibility _ , (D)  prohibition.

AR -

W 49
72.  You must not park your cycles here. Here ‘must not’ expresses
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72. You must not park your cycles here. Here ‘'must not’ expresses
. (A permission A_Mmhibluon
(C)  inability (D) probability.
73. Most students got through the examination.
Here ‘got through' means

(A) took B passed

(C) understood (D)  arrived for.
74. A Shakespearean sonnet usually contains

(A)  seven couplets (g) four stanzas

(C)  three couplets and two stanzas Lu)]/-thm:c stanzas and a couplet.
75. An elegy usually gives expression to a s

(A) feeling of joy [B}— sense of loss

(C) [feeling of victory (D)  sense of defeat.

76. The number of pure vowel sounds and diphthopgs in English is
(A) 8 pure vowels and 12 diphthongs (8) 14 pure vowels and 6 diphthongs
€] 12 pure vowels and 8 diphthongs (p) 10 pure vowels and 10 diphthongs.
77. The first sound in the word ‘yes' is transcripea as

W /y/ s e/
© sai/ \upr— /i /.
78. Which is the correct transcription of the last sound in the word ‘blue’ ? .
T S/ ® /0T /
© / Uay D /oo/.
79. Pick out the correct transcription of the word ‘take’ :
A/ tek / B/ telk /
€)  /talk / (D) / teek /.
30. Whj/ch of the following is the correct transcription of the word ‘know’ |
A / nadt / (B) / mali /
@ 7 nvy D)  / kne U /.

31. English in India today needs to be taught as
(A)  alibrary language '
(B) _ a language for higher studies

. a language for communication
(D)  a4mnguage to be used while travelling abroad.
}2.  English language teaching needs to be .
(A)  teacher-centred ,J/(B'j/ learner-centred i Q
(C) lecture-centred textbook-centred. N

(D)

T (o] - . ieme
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83. Communicative Language Teaching stresses the interdependence of
(A) language and psychology (B) language and behaviour
Lﬂ})/ language and communication (D)  language and conversation.
84. The most important element in Communicative Language Teaching is
(A)  the structure of language (B) the reading skill
(C) memorization of grammar \AD) . meaning.
85. A language learner makes errors because
- the learner has acquired ohly partial knowledge of the language
(B) the learner has acquired complete knowledge of the language
(C) the learner enjoys making errors
(D) * the teacher has permitted him to make errors.
86. Complete the following statement : '

Language tests are designed to measure ................ +ee.e.. at @ particular moment in the
teaching programme.

(A) the learner's liking for the language
(_I{BY— the learner's knowledge of the language
(C) the teacher's knowledge of the language
(M  the learner’s attitude towards the language.
87. One of the purposes of evaluation of learners is
(A) assessment of textbooks
(B) preparing a list of learners’ needs
€y assessment of the learners’ attainment
(D) identification of language functions.
88. Multiple Choice Questions
' ({A— reduce subjectivity in evaluation
(B) increase subjectivity in evaluation
(C) allow essay-type answers
Dy allow students to choose multiple options.
89. A 'Recall-Type' test is a test of
LVmcinory (B) imagination
(C) understanding ‘D)  speed.
90. The purpose of remedial teaching is (o
(A)  introduce new language items
B) Test recently taught items
G teach again the langﬁage items not properly learnt
(D) teach again the language items already learnt.

IR [e0a] | .
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SECTION - IV / Q|us - IV
[n this Section there are 2 sub-sections i.e. IV(a) Mathematics and Science and
[V(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

T'he candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social Studies
as selected in the Online Application Form and answer all the 60 questions.

ﬂmﬁamaﬂhw[a)ﬂhﬁmﬁaﬁﬁ IV(b) WTifsrer 3teaa=# | S STaEvsi & Tl
i 60 agfaskeda yeA € |
mmeﬁaﬂwta)ﬂf‘vmﬂmﬁaﬁmarwmmmﬁasw forgs1 =97 sTeme see 99 | fean
A @ frel uF STEUS g € Ud w60 Wi @1 ST A ¥ o
SECTION - IV (a) / @S - IV (a)
MATHEMATICS AND SCIENCE / Tfuta aer faame

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions. s

q @vg ° §e bow% lﬁﬂawﬁﬁﬂﬁsﬁﬁwwwﬁw%wwﬂwmaﬁaﬁ% |

31. Which of the following is not equalm{32]3¢'
(a) 3°¢ - B 93
€ 272 LD 63
ﬁmﬁammﬁ{sﬁ)b‘%wﬁﬁv '
L 36 B 93
€ 272 . o 63
32. Which of the following is true for (a+ b)2=a?+b? +2ab?

(A)  Itis an identity . (B)  Itis an equation
\_/(.G)/ Both (A) and (B) are true (D) Neither (A) nor (B) is true.

(a+b)2=za?+b2+2ab FaMAFFEAEARTTAE ?

A TE TF wuE ® T ey

© @) 70 (B) S FAE - D) (&) T (B) A e E

33. On dividing the expression 27x3 + 27x2y + 9xy 2 + y 3 by y + 3x, the quotient and
remainder are ’

3 5
(A 9y?+6xy+x?, zero l/[B)f- 277xy--+27x2+21y. —Sl—xy—
: 4
© 9x2+6xy+y2. zero | D) 27x2 +27x + 21y. —81%.
EZiEEF21x3'+27x2y+9xy2+y35ﬁy+3xﬁWﬁWWWHmWW'&
: . .3 5
A 9y?2+6xy+x?. A B) 27.xy +27x2 + 21y, - 81 xy
: 4
€ 9x?+6xy+y?. YA (D) 27x2 + 27x + 21y, - 81 Ey—.
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4

9x2 + 6xy + y2 . A D) 27x2 + 27x + 21y, - 81 T

IR . (e - [ P.TO.

ST-2 72 ' ]7|

94.

95.

96.

There are 54 students in a class. If the number of girls is ;:i times the number of

boys, then the number of boys is

24 30
@ - . Lﬂ’
) 36 (D) 45.

wh A 54 fame ¥ 19t wENS F) Wew, v Ten A o A D ol A wew ¥

w24 : ' (B) 30
) 36 (D)  45.
Which of the following statements is not true ?

(A} Number 25 is a perfect square number

(B)] Number 38 is not a ﬁerfept square number

(C) The square of an odd number can always be written as sum of two consecutive

positive integers

uDj/The square of an even number can always be written as sum of two consecutive

positive integers.
frddsh-mFm Ty = ¥ ?
(A) HEM 25TH U T HEen ®

(B HEn 38T i o Hem T 3

(©) Tt fawm SEn % 3t A1 < FERE YA Uil F A F w9 T s F TR ¢
(D) fopelt & v & ot 1 < HATT AT U % A & TG H WA A Hqhd € |
Which of the following statements is false ?

(A) Discount ;Marked Price - Sale pricc-L[%-—Discount = Sale price — Cost price

(®)] Profit = Sale price - Cost price (D) Loss = Cost price — Sale price.
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(A) Discount = Marked Price — Sale price (B Discount = Sale price — Cost price
P P

(®)] Profit = Sale price - Cost price (D) Loss = Cost price — Sale price.

e § WP -9 FYF EE § ?
A ge =ifwa geu - R g B w2 =fawT geg -%3 g
) @ =ToFa 73 -Fa 73 (D) ¥ =%3 79 -faka 729 |

(L 60z -

73 ST-2

If a:b:c:d then numbers a, ¢, d are in continued ratio if

A) ab = cd (B) ac = bd
\ng/'bzc‘ (D) a=d.
A a:b:c:d @AW a; ¢, dfsaam # @ ¥ afe

(A) ab=cd B ac = bd
© b=c _ D) a=d

A sum of Rs. 210 is divided between Ram and Shyam in the ratio 7 : 3. The amounts

received by them are respectively ( in Rs. )

L 147, 63 B 63, 147 .

(© 140, 70 (D) 180, 30.
210%9 & T AR WW F 7 : 3F UM F A W AE F g/ WH ¥F (T2 A ) Fua: g
(A) 147, 63 . B 63, 147
© 140, 70 (D) 180, 30.

Which of the following is not equal to the compound interest on a sum of Rs. 48,000,
for three years at the rate of 5%, calculated yearly ?

(A) Compound interest on a sum of Rs. 48,000, for 1 % years, at the rate of 10%,

calculated on the basis of 6 months.

(B) Compound intcrcs{ on a sum of Rs. 48.000. for 1 year, at the rate of 15%,

calculated on the basis of 4 months.

(C) Compound interest on a sum of Rs. 48,000, for 9 months, at the rate of 20%.
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calculated on the basis of 4 months.

(C) Compound interest on a sum of Rs. 48,000, for 9 months, at the rate of 20%.
calculated on the basis of 3 months.

Compound interest on a sum of Rs. 48,000, for 1 year, at the rate of 15%,
calculated on the basis of 6 months.

= ¥ § #F ae 71 ¥ 39 Iwgfe =9 F S fF 48,000 Fo W, 339 & faw, 5% F W F,
aifie fewr @ o se ?
(A s W 48,000 Fo W, 15 ad & AT, 10% T A, 6 TR F fewa A

(B) 9l =419 48,000%0 T, 199 % a0, 15% [ ¥, 4 9 & fema |
() amﬁsm 48,000 Fo W, 9WEH! ¥F faw, 20% W R/, 3WEH ¥ o= |
(D) g =T 48.000%F0 W, 194 & foy, 15% W A, 6 7EH ¥ feqa 4 |

WL - [ e0z] - N | PT.O.

ST-2 74 W]
100. If a person X sells a saree of Rs. 100 to Y at a profit of 10% and Y sells it to Z at a
loss of 10%. then how much ( in Rs. ) does Z pay for the saree ?

AT 99 . _ (B 100
(C) 101 (D) 90.

e Afw X, 1003oamq—nmm°rﬁ 10% % a9 © yE a9a & 3k Yaﬁmﬁtaﬁ 10% =1
A Z B AFa & 1 dt z 39 Wil H) o vo A wiEm ® 2

A) 99 (B) 100
© 101 D)  90.

101. When two parallel lines are cut by a transversal then which of the following is true for

the angles formed between them ?
. \
{A) Interior angles on one side of transversal are equal

(B) Alternate angles are not equal

ué]/Correspondmg angles are equal
{D] Exterior angles on one side of transversal are equal.

g & gER @l & U fadw T dredt € @ 399 994 9 il & fag e A @ Swew
FTTI R ?

(a) - fad® @ F uF WE T A T mwzﬁﬁ%
(B) U&= &YV SR AE] 8 &
(M A o oaray Ba Y
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(B) USRI &IV IR F&1 T &
(C) M Fo =W B €
(D) fads Y& % sk quvE o7 |16l oTal S SUsk g §
102. What is the minimum number of components required for construction of a
quadrilateral ?

(A) 4 ' : | 5
B

€y 6 : D) 3.
T SRS F T % AU IW HU A FW e a9 96 2 e ¥ 7
@ 4 ' B) 5
) 6 (D) 3.
103. Area of a trapezium is given by
(&) Base x Height (B)  j Base x Height

(C)  ( Sum of parallel sides ) x height D % [rsum_of parallel sides ) x height.

Wﬁﬁﬁ?m@mﬁm%
(A) UR x S | B) 5 o x $=E
(©) (TR S A ) x A D) 5 ( wemw st & dm ) x =

T (e02] -

(W] | , 75 ST-2
104. The 'surface area and volume of a cylinder of radius r and height h are given by
respectively
A rwrZh 2nr(r+h) ° ' LFB‘)/éJtr[r+h].nr2h
(C) %m‘"2 h.2nr(r+ h) ' D =ar(r+h).nr2h

rfe qen A3 % Ao TS A6 T A e §

A wr?h 2xr(r+h) (B) 2nr(r+h), nr2h

© nr2h 2nr(r+h) D) nr(r+h),arZh
' 3

105. Which of the following is not a condition for the congruence of two triangles ?

fAav L0 | IS WS IR I [ I [, [ ———— RN [ S — . [P i, S —N_— D ——— -
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105. Which of the following is not a condition for the congruence of two triar;g]es ?

{A]. All the three sides of a triangle are equal to three sides of other triangle.
(B) Two sides and the angle between them are .equa].
(C) Two angles and the side between them are equal.’

_AD]__ All the three angles are equal.
fret @ Hr-oht qen @ Fagsl ) watren fag 0 ¥ fog v 1@ & 2
(@) 2 e i e srem ¥ 5w |
@ A qe o T A e

(O A U 3R AP S H I aE w |
(D) @H ®o amiﬂ Fafll -

106. The mark \’\H\‘\ is known as

\/(ﬁ]/ tally mark (B) frequency
(C) pie mark - (D) bar mark.
fag [N @eamm #

@& ¥k fas ( foom faw ) (B) @
© vE fos (D) TvE fag |

MU (e0z] - L | PT.O.

ST-2 76 A
107. Histogram is used to represcnl.
(A) non-continuous grouped frequency distribution
(B) ungrouped frequency distribution

€T continuous grouped frequency distribution
(D) all of these,
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\arj Qll VL LLIGCDG,

(A) I AT AR w2 (B)  FeRfihd SHERAT |
(C) Eaq Ffigha aaRal S (D) TG
108. The frequency distribution table for the data 7, 2, 3, 5. 6, 2,9, 3,2is °
(A) _—Score Frequency (B Score Frequency
‘/_ 2 3 1 7
3 2 2 2
4 0 3 3
5 1 4 5
6 1 5 6
7 1 6 2
8 0 7 9
9 1 8 3
9 2
(C) Both (A) and (B) (D) Neither (A) nor (B).
FE 7.2, 3,5, 6, 2. 9, 3, 2F AU aiarar s qfvei € -
W =R R | B) TR WA
2 3 1 7
3 2 2 2
4 0 3 3
5 1 4 5
6 1 5 6
7 1 6 2
B 0 7 9
9 1 8 3
9 2
(€} (A) T (B) T (D) (A) 91 (B) 3T A § &€ 7T |

(LT - [e0z] -

W | | | T ST-2

09. A group of students went,-ﬁmer holidays and performed various activities as
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09. A group of students went, Mer holidays and performed various activities as
given by the following diagram. What is the name of this representation of data in
statistics ?

{A) . Histogram - (B) Bar diagram
\/(61/ Pie diagram o (D)  Frequency polygon.

ﬁaﬁﬁwwwmﬁmﬁwaﬂtﬁfwmﬁnﬁﬁfﬁﬁﬁﬁsﬁwﬁmm
wefifa ¥ | wifers A 76 R Q s ¥y B wn v ¥ 2

(a)  ImEE T L
© % fam (D) STEART SEYS |

.10. Representatlon of ungrouped data by columns of equal width, unequal length which
are equally spaced is called

(A) Histogram o L/IE]/- Bar diagram

(C) Pie diagram - i . (D) None of these.
wﬁ-ﬁmmma\mﬁ ﬁmmmm@mﬁmmﬁmmmmm
FeoTar § _ -

@ e fa S B wsfaE

© = A . D) THARETE

T | . ieme
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| w |

111. Mathematics is that language in which the God has written the whole world or

universe,” Who said these statement ?

\/@’ Galileo _ B)

(C) Plato ' (D)

Russell

Hamilton.

'“ﬂﬁmaﬁw%mmﬁmwmmaﬁm&m% " Ig e fmaa ¥ 2

(A e (B)
C) w2 . (D)

.

oA
Farea il

112. According to Prof. Shultze, the basic aim of Mathematics teaching is

(A)  helpful in other disciplines

\M\relopment of mental power

(C) proper use of leisure time

(D) to make aware of the basic and gcnel;al principles.

- WIREE Y[eES & AR o Tgm a1 wfae $¥vE ®

(A TED fawmsll § weEa yem I (B)
(C) w@rch gwE % wgTE D)

aAfaE ot &1 fas
et a9 g fagral @ afeea w5

113. "The students who can’t understand geometry are not allowed to enter this school.”

This statement is of

(A) - Aristotle . (B)

L'/(Q/Plato (D)

Herbert

Hamilton.

“Si faenei wanfafa 7€ T g @ 9 oo W 7€ o ued 1 a9 e fRge € 2

@) IRE ' (B)
© == (D)
114, Inductive method is suitable for

A establlsh;ing the formula _ (B)
(C) understanding the problem (D)
s féty Fre 4 @ s fore 3 & 2
(A T I e ¥ fer (B)
(C) wam™ & woed & faw (D)
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solving the problem by formula

Il

formulating the problem.
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W | | 79

115. Originator of play-way method is

A) Froebel BOV\[ us

() Montessori
| fafy & swwerar §
@A) e

© Wl

(B)
(D)

(B)
D)

(A)  helps in the study of science subjects

(B) improves logical thinking
(C) is useful in daily life

\.)D,/ all of these.
Tt fawa =1 yreTEHy | HEE € FiiE 98
(A faum fawei & s A weaw €
© s oA § sy ¥

(B)
D)

Dalton

Sigmund Freud.

Bleed

famve wEE |

116. The subject Mathematics is important in curriculum since it

wﬁw@aaﬂﬁﬁmaﬁm%

TH A gt

117. Which of the following is not used in language of Mathematics ?

A) Mathematical formulae
(C) Mathematical digits

@ i g
(© i demst

(B)

Mathematical symbols

\_,[B‘)/ None of these.
nfora & e A fre # A o W A R @ E 2
nfurdta HFal
T A wE T )

118. While playing Ram makes a quadrilateral with four sticks and makes the following

(B)
(D)

table in a copy :
Number of quadrilaterals 1 2 3
Number of sticks 4 8 12

What conclusion ean be drawn from his action ?

(A) Ram is playing
(B). Ram is doing mathematics

\_/(Q/Ram is doing mathematics along with play
(D) Ram is playing and not deing mathematics.

B ¥ 2R W IR A A T g T sl w A e w

S w i wEn

1

12

3

4

8

12

diferdt st we

L ~— = -~ £ o~ =
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AN ST 1 2 3

dfedi waenr 4 8 | 12
IHT TE W | o frewd faen W @ € 2
A THEATRR | - (B T w @R
) WEAFWITMRR@E (D) T FAA G W ME TR @R

L N [e02] ) pTo.

ST-2 80 | [w]

119. Remedial teaching is required for
(A) mentally retarded children (B) weak students
(C)  average students (D)  all of these.
| ITENREE faen #t SEE g @
W = fs 7= F fen B o3 a= ¥ fag
© wm= = F e D] T A i ferw |
120. What case must be taken while selecting a good textbook of Mathematics ?
(A)  All the questions in exercise be solved
\_/(‘B]/_ It must contain a sufficient number of examples and questions in e;(ercise

(&)} ) The number of examples is more and questions in exercise are less
(D) The number of exm:nples are less and queslions in exercise are more.
Tforq F TSt IS [IF F TG F GHA TH FW a0 W =@E W@ 9fey ?

(A)  YvEE ¥ HN WA ' Y g Rl

(B) watw AN H ITRYV TE GG 9 U €

(C) IR0 ARl e FeEc F wed o

(D) 3IETW FH qU WAEA H U A & .
121. Example of fibrous root is \gC/fQﬂ e L b
(A)  Mustard : (B) Gram
) Maize (D) Carrot.
Wen @ # seww
A w (B) =
i~ EET N TmET
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(a) = (B) =
(C} TH=hT (D) TSR |

122, Communicable disease cholera is caused by

(A)  Clostridium tetani (B) Mycobacterium tuberculosis
(C)  Mycobacterium leprae (D} Vibrio cholerae.

W A w1 A FR R ’

W wAfem R B) wEEREERAREY SEEE
(© USRI ad (D) fafem s

IR | [602] -

[w] | 81 ST-2
123. Some organisms obtain their food from plants as well as from animals. They are called
‘/(ﬁd/— Omnivorous (B) Herbivorous
(C) Carnivorous - (D) Predators.
FT -5+ I5- N9 ud Sl @l 9eF F ' 1 H T80 Fd § 1 3% FHed §
() wafewt ' B) wrewER
() wiaTer ©) TR
124. Penicillin is obtained from g
(A)  Virus (B) . Bacteria
(e Fungi (D) - Algae.
Yfsfeeta T siufy ara =t S @ \
W famga | ® e d
(€} weFd D) S d |

125. The transformation of a larva into adult frog is known as metamorphosis. The

metamorphosis is regulated by

(A)_~—Thyroxine hormone (B) Growth hormone

(C) Adrenaline hormone (D) Insulin hormone.

e ¥ ol %1 99 § SI=R H FEREY FEd & | HEmRe H HEee g ®
(A) et T q B) gfg endtA A

€ ugAfeAeEqa (D) TgfeE @b 9
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(A)  HPRIEEA €A | B) gEedAd
(C) ufgAfer g & D) Yo = A

126. Fuel deposited in large quantity under the ocean sea-bed is known as

k/Eﬁ)/- Clathrate (B) Uranium

~{C) Thorium (D) Cellulose.
TR Y AES § W W ¥ W1 6 &) wed §
A)  FAAE e (B) gIftaw
(©)  eifeaw ' (D) HTA |

127. An object is placed between two plane mirrors kept at 50° angle. How many images of

the object will form in the plane mirror ?

(A} Four . (B) Five

(C) Six DY~ Seven. |

T FEFS50° HI W W T Q) gHaa <9vil & 967 W@t T F | gead giur H o & fohed wfafers
L Ar R

W =W M) =

© (D) 9@ |

T o [e;r] e

ST-2 82 (W]
128. 27 kilogram weight is equivalent to

(A) 27 newton (B) 9-8 newton

ut€l 264-6 newton (D) 2700 newton.

27 e W g E ¥

@A) 277EAF B 987 AH

(C) 2646=gAH (D) 2700=EAF |
129. Noise intensily greater than .......ccccevvveen...... is painful for human body.

(A) 10 dB (B) 30 dB

(C) 60 dB D 80 dB.

e, W 1 T 1 YR WEE TR F A TS € \

A 10dB (B 30 dB

(C)- 60 dB : (D) 80 dB.
130. Property of solid matter, in which material is directly changed into gaseous state

without undergoing into liquid state is known as

LA~ sublimation B) condensation
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without undergoing into liquid state is known as

A& sublimation (B)  condensation
(C) solidification (D) vaporization.
S TErel w1 =g o Fored e wae fan 59 otewen ¥ aqer @ fief swreen § aRafda @ S,
IR FEd T ' :
(A WA - (B) HEH

(cy fyuen \_/[Dj/a'lml

131. Which of the following planets does not have natural satellite ?

(A} Mars _ (B) Earth
L/(Q-l/ Jupiter ' _ (D) Venus.

fretifea § 4 forg w2 & WiFfos Iwe @1 § ?

a) W B g

(C) e | D) T

132. Who invented LASER ?

(A) W. K. Roentgen . (B) Godfrey Hounsfield
Meodure Maiman (D)  Albert Einstein. '
LASER & @9 foea =1 it ?

@ TEYgo Fo T B) TieH TEHEICS
© fudrer #am - (D) 3o AREA |

L [e0z] -

(W) - 83 ST-2
133. Which of the following metals exists in liquid state at room temperature ?

(T3] Sodium ‘ UHJ/Mercury

(C) Sulphur 1]] Thorium.
freAifera § @ F9- 6 U, FH F A9 WS s § U aw ¥ o2
@) Hfemm ) (B) "D
() T (D) enfEm
134. Example of thermosetting plastic is
(A Polythene (B) pPvC
(O Melamine M  PET.
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(A Polythene (B) pPvC

LIS Melamine (D)  PET.
ymiafen wenfics &1 39w §

(A) it (B) T
(C) HemHEA (D) W
135. Polymer of cotton is
A Cellulose | _ (83) Rayon
(C)  Glucose _ (D) Fructose.
FUH F TEAF € :
@ FgE B A
(C) TH : (D) HEE |
136. Which of the following gases is responsible for Greenhouse effect ?
CO, ' _ (B) CO
) O, (D) NO, .
freifed § | A @ g dur-w gvE & foau soee & 2
@A COo, : (B) CO
© O, - (D) NO, .

137. Maximum number of electrons in an orbit of an atom is determined by

( n = Orbit Number )
@A 2n LB\ 2n2
© (2n+1) | T D n
T 1 Forel e A T A gen W A A E
(n-what & @)
A  2ngm @B 2n23mW
© (2n+1)Fm (D) nER

IGIRAEIR | [602| - . | PT.O.

ST-2 84

P

LW

138. Atomic number and mass number of an element are 98 and 251 respectively.
The numbers of electrons, protons and neutrons in the element will be

LI 98. 98, 153 (B) 98, 153, 153
(C) 98,98, 251 . (D)  98. 98. 98.
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LI 98. 98, 153 (B) 98, 153, 153
(C) 98, 98 251 . (D) 98, 98, 98.
TR a8 &1 WA HAE TE RATH WS HAY: 98 AUl 251 €, Al 3UH IoEeld, Wi au =g
FI HEm FA: e
(A) 98, 98, 153 (B) 98, 153, 1563
(€) 98,98, 251 D) 98, 98. 98,

139. Which of the following is used as artificial smoke or cloud al film and drarrtla stage ?

(A)  Liquid oxygen (B) Liquid hydrogen
{C) _Liquid carbon dioxide | L/{[)J/ Liquid nitrogen.

foen Td Ae® F H9 W FA9 g3 dua awe gui F fore Freifes § 9 fmwe svdm i s
20?

@) wE st B) w9 EESA
(C) =4 e+ SEATFaRS _ (D) %a 7ReSA |

140. Which of the following products is used for construction of roads ?

(A) Coke \_/(B')/ Bitumen

(C) Paraffin (D) Naphthalene.
fraifd 8 @ ST 3G WeF 999 F &M ° o s € 2

(A)  wH B fagm

© A (O v |

141. “Science is the investigation and interpretation of events or phenomenon that occurs in
natural environment and within our own body."
Above mentioned definition of science is given by
(A}  Albert Einstein (B) W. C. Dampier
(/(C)/ J. Jacobson (D) B. S. Bloom.
“fogm afifer S T TR aed TR § wfed weN wd e @ e we e
U fora &1 wiewrn fored & 2 | _
A IFeEe FFREA (B) T&go Ho Trdr

(C) o SpraE ' ' (D) dfto THo A |

LU [ 602] -
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142. Who established the Indian Parliamentary and Scientific Committee for improvement of

Science teaching ?
W Jawaharlal Nehru _ (B) Lal Bahadur Shastri
() Indira Gandhi | (D) Morarji Desai.
fors fareor 3 U 3 forg Sfewm Wikl e AEfeReE FUA H) T e g @ o 2
()  SEEEE ARE | (B) I @I YAl
©  ¥fen (D) HrOTS S

'Y

143. Which of the following methods is used for teaching science in the present era of

technology ?

A Programmed Instruction (B} Team Teaching
VGC]/ Computer Assisted Teaching (D)  All of these.
FAAA dErE g0 °, Freafafeaa 9 9 S04 wfafy faam feo & fog svdm 1 s & 2
(A)  AEEE IRYH o ' (B) T fasm
(©) wFget wErafaa e (D) TEFF T
144, Whiéh of the following is related to Psychomotor objective ?
(A) Organisation _ L,(Jaj/ Perception
I(C)  Valuing | (D)  Analysis.
frafafaa § | SH-91 98 TS Sev9 & ST=d A § 2
@A) T B)  yeEEHT
(©)  TFeH | - (D) fawerwo |
l45. Taxonomy of educational aims / objectives is given by
(A) Krathwohl B onN us (Bl B.S. ‘Bloom
(©  Robert Meger — _ (D)  Gyane.
v e SevEl /e eval @ it feees g fem T # 2
A EJRCIG (B) o THo =W
(€ T AR - D) T

[T 602 | - [ P.T.O.
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' 146. Which of the following methods is not child centred method ?
W~ Lecture method "~ (B)  Project method
(C) Demonstration method D) Laboratory method.
Frafafea § @ F=-4t area Ff=za fafy =1 & 2
(A = faty B W fafy
© vaEm fafy o (D)  wanTemen fafy |

147. Which of the following is not a demerit of Project method ?
(A) Teaching haphazard and discontinuous
(B} Costly method
(C}  Availability of reference book

\/[.B]/-Related with real life.

freafafra A @ FF-w iR gl SIS T & 2
(A oo sl wE fasaEe (B) =@ 9 wgfa
(©) Hed T I TS (D) Srafas Sftem & gEfaa |

148. How many main steps are followed in Project method ?

) .One \/[B)/Four'

(© Six (D)  Ten.
s fafa § fea ge |9iE yge g € ?

w T : B) =R

< = (D) zTF I
149. Which of the following is not a qualitative test ? |

()  Observation (B)  Check list

(C) Rating scale | (D)  Objective questions.

f= ¥ A 99T oneas Wiem 7w € 2

@  frdao ®  sita g

© nww ‘ A0 A W
150. Which of the following is an audio-visual aid ?

(A}  Documentary film (B)  Bulletin board

(C) Epjdiascope . {D)  Flannel board.

fer 8 | ST 959-gvg A ¥ 2

(A — T fox B weifed &g
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frer o | SF-T 959 -gvg A ¥ ?

A ¥ fera B) T &
@ fo3-fowms 93 ' (D) Tord A |

AU [602] -

JEEENIC

| w | 87 ST-2

4

SsT
_— SECTION - IV (b) / @Ug - IV (b)
SOCIAL STUDIES / Wraifaes 3reaa

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

wave § §a 60w ¥ | o anafial 3 wa fawa 1 wgw fom @ =F oot gwa o s ® 0

91. The third decade of 20th Century was significant in Indian history because
(A)  ‘Annals’ by Col. Tod was published
(B) copy of Kautilya's ‘Arthashastra’ was discovered
(C) Ashoka's inscriptions were deciphered

)  Indus Civilization was explored.
yrdta gfagm # 20 & v #1 e 2vw TEE W =i
(A)  wa e F TR FOTEEE g2 (B) =wifeey fafaa  wdwre’ w1 wfaferfy fosh
(€ i & foeerEl 1 9 ™ Dy ey aae w1 @ gl
92. Which of the following statements is not true ?

I/W/ There was a decline in Samskaras in Vedic society
(B) The spirit of 'Vasudhaiva Kutumbakam' has been taught by Vedic culture
(C) The treatise Ramayan is smaller in size to Mahabharata

(D) The elderlies are considered heads of families in Indian society.
faddsh s smat ?

() Afcw gt gure | S w1 eE 8 T 9
(B) ‘=gia gTEey' W v dfew geptt w5 29
(C) THMEY HETWRA i 19en &g 19
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(B) ‘@gia Fzmwy' F1 waEe Afew dafa w1 3
(C) THEY WETWRA 1 39en @Y ug ¥
(D) v A H gyt B aREn & gfea wen s @
93. Which of the following is not a main cause of urbanisation ?
(A)  The decline of cottage industry (B) Rapid population growth

\/(C)/Rlsing prices (D) Lack of essential amenities.
ﬁﬂl}ﬁ‘;}wﬂwmaﬂq-mmm?ﬁt ?
AW FER TE F A B) i s gfs
(€) W wEme (D) smEwEs gawmsd w svE

(T | -

ST-2 88
94.- Which of the following was contemporary to the Harrappan civilization ?
(A} Crete civilization (B) Egyptian civilization
(C}  Greek civilization (D) Roman civilization.
fret # A - wam wgom T )t wwwe o ?
A Wi g \)gy fos wyam
(C) g | (D) A =g |

[ P.T.O.

95. Which of the following statements is not true regarding the efforts made to improve

the status of women in Indian society ?

(A) Vireshalingam Pantulu formed an organisation in support of Widow remarriage at

Madras Presidency

(B) Jawaharlal Nehru and Subhash Chandra Bose supported the demands and more

freedom to women

(C) Pt. Ramabai made efforts to improve the condition of women in higher classes
(D). Tarabai Shinde supported the orthodox beliefs regarding women by publishing

the book ‘Woman-Man Comparison’.

wrerd wae H afeensd 1 feafa d qur 1 e F 5 @yl & w=d A oA A @ @

wY wel T ¥ ?
(A W e F dvefem 9ag 3 favar-faaw & auds § oF @A e @

(B) TERIEE AEE €4 UM 9= 9 3 wfeensii F fou sfus @ama vd ani @ ands

() fem vwar A It wnfadl w1 wfeensii #1 gdwm gud & e fw

(p) TEE AR 3 ‘e-gen ge’ AW | feam ywtva w1 oS F an § sfgad faad =

g fwar

96. “The employees earn salary while peasants plough the king's land.” With reference to -
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96. “The employees earn salary while peasants plough the king's land.” With reference to -
which ruler was this statement made by the Chinese traveller ?

(A} Harshavardhan (B) Chandragupta I
)  Chandragupta 1l (D)  Samudragupta.
Yot Aairtt @ safE fRam oo @ gfs Sied € 1 S ant 1 g Fea fae wes F
w=v d w1 T ? :
(ny EfdA (B) I I
(€ T I (D) W |
97. Which Chola ruler captured Kanchi defeating Pallavas ?
(A) Parantaka | (B) Adityal
(C) Vijayalaya ’ (D) Rajendra Chola II.
e e wree A TeoEl #1 gt St W AR T fern 2
A T B sfee
© femem o (D) W= EE 1

L [e02] -

b 89 ST-2

)8. Which South Indian dynasty divided the State into Nation ( Rashtra ), Kottam and
Village ( Gram ) ? "

(A) Cholas V@)/ Pallavas
(C) Rashtrakulas (D)  Chalukyas.
<o wia % v Trorew A U5 w1 TR, @igH 99w # fawifea fEa 2
(A) =e (B) deem
(cy TEFZ (D) =rg#E o
)9. During the rule of which dynasty did Kanheri University became popular ?
A Rashtrakutas _ (B)  Cholas
(C) Chalukyas (D) Pallavas.
fom ToEe & wea F2 4 favafamen sfeg gan 2 ’
A mFE ® o
(C) - == (D) TeE |
00. In which state is Rampurva's Ashoka pillar with Bull Capital located ?
I Bihar (B) Bengal
™ A e ™ Tlidtrme Dencdant
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00. In which state is Rampurva's Ashoka pillar with Bull Capital located ?

\/(ej/ Bihar (B) Bengal
(C) Assam (D) Uttar Pradesh.
TG F1 FuY virdaEn AvE ey fFe A 2
W faEr B) @mE
(C) ZEw (D) 3IW WA |

01. Which of the following saints propagated Sagun worship ?
(A)  Kabir (B) Nanak

L_/[C)/ Nimbarka (D) Dadu.
=1 1 | 9oy & yanE 9d 91 _
(n) e ‘ B) AFEH
(c) Frark (D) =g |

02. Which of the following statements regarding Mughal Art is not true ?

(A) ‘Ibrahim Roza' is in Bijapur
L/(Bl/ Akbar got Fatehpur Sikri built after 1585 A.D.

(C)  Akbar's tomb is in Sikandara
(D) Shah Jahan got Takht-e-Taus built in Delhi.
WA HIEATH Hel & A H HA-G FYH FHA & ? '
() FeRg | ‘gaEm den’ @
B) FEE A TR @ 1585 fo ¥ ARG aar
(€ wa & weau fawmen § #
(D) wmESEl A feeel # @ qEw wE| |

UL 60z| - - 1pTO.

ST-2 920

W)
103. Maharana Pratap died at the age of
(A) 67 years (B) 54 years
(C) 57 years (D) 49 years,
TEWI Ward =1 §eg &% 699 3 4
) 67 B 5aTd

wer” 577 (D) 497d |

104. The 30 per cent cotton cloth export of the total Indian export around 1800 A.D. was
reduced in 1870 A.D. to

A 25 B) 13

© 8 pr~ 3.
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A 25 B) 13
© 8 pr~ 3. | .
T 1800 & \-98 wRdra frafa § gt 98 %1 wfawm 30 @1, st 1870 do 7% WA o

yfaya @ mn 2
A 25 (B) 13
(C) 8 (D) 3.

105. In Modern Age, women too encouraged writings for awakening and social reéforms.
They wrote several books. ‘Aamar Jiban' published in 1876 A.D. was written by

\_ 47 Rashsundari Devi (B)  Kailash Bashini Devi
(C) Roquaiyya Sakhawat (D) Pt. Ramabai.

Hieensil 3 ot srww wd aenfaw qur 37 sy w1 A dem wd ) deed g wa A
IR F3 qea fadt | 1876 fo H e Uy ' TR e’ # Afae of

W T (B)  &emw afe
(€ OFw Y@ (D)  fgen wamET
106. The Constitution of India was adopted by
A Constituent Assembly (B)  Parliament
(C) Lok Sabha (D) Rajya Sabha.
WA wfaum i g fa T
W wfaum @ R (B HEEEW
(€ & | g (D) TS | A |
107. In which part of the Constitution of India does the term, ‘Secular’ was added later on ?
(A) Fundamental Rights (B) Directive Principles of State Policy
Pregmble (D)  All of these.
vy fray’ e, o o § e T, @ oo wiEre w@fauE & R am o foee & 2
" Hifersr AR § (B) fifa frdeer a |
© Ve (St ) A

AR [60a] -

W 91 ST-2
108. Which Article of Children's Bill of Rights ( 1992 ) says, “I have the right to know about
my rights™ ?
Article 42 (B)  Article 12, 13

(C) Article 23, 28, 29

LU - ] ~ B — & —

(D)  Article 36.

PSRN XA -~ LR N -
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4T Article 42 B)  Article 12, 13
(©  Article 23, 28, 29 (D) Article 36.

Tl & Afyer fad (1992 ) w1 FH-W ATHR 7w FEw ¢, VAR W afuFri w9 SR W
wfywr & 2 -

@ =T 42 . - (B  HTWT 12, 13
(C) ¥g=¥T 23, 28, 29 (D) 3= 36
109. Which of the following is not a fundamental right ?
(A)  Right to Equality (B)  Right to Freedom
Franchise , (D) Right to Constitutional remedies,
= A | Fh-a Hifes afusr @i & 2 \
(A) wuEE w1 sfEEn (B) EdHAl w1 MER
(C) W F1 AuFR (D) Hawfrw svEnl w1 sfusr |
110. In which Article of Part IV a' of the Constitution have Fundamental Duties been
incorporated ? '
AT 51a B) 42
() S0a ' (D) 52
el Fed wauE F M IVE F e g A gafea @ 2
Al 51% ' «(B) 42
(C) 50% (D) 52.
111. Which of the following statements is not correct regarding the Election of the
President ?

(A) The objections related to the election can be raised only in the Supreme Court
By~ The votes of all MLAs have equal values
‘ (C) The votes of all MPs have equal values

(D) The nominated members cannot exercise their franchise.

ey 9AE | gEfa Tem ae §

Ny TgTE § wrafg faarg fak ssan e J @ 3o gwa §

B) ot faurgal F 99 wom gog TEa § '

(€ ut wiwel F " 99 Yed @ €

(M Fre e waeE § v e | e €

112. The 73rd Constitutional Amendment for making Panchayati Raj Institutions more
effective and more powerful was passed in

A) 1990 (B) 1991

AeT o2 D) 1993,
Jargd TS HeEns w1 gt uE e 9 ¥ e 73 91 dfaum dvings fen ad oifta gan 2
) 1990 (B) 1991
© 1992 D) 1993,
ININRIN . [ P.T.O.
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113. What percentage of Women's reservation was availed of in the election of local bodies
in Rajasthan in August, 2010 ?

A 30 (B) 33
() 50 (D) 10.
e § e, 2010 ¥ gy vy feedl & ga F afeenedl 3 smaw & fman wfavm @0 e
IaM ?
@ 30 L 33
(€ 50 (D) 10.
114. The Head of Municipal Corporation in Rajasthan is called
(A)  President (B) Mayor
(C) Chairman (D) Nagar Pramukh.
TSEE H AR e & wyE # owed § '
(A) ey BT mETii
(C) wumfa (D) WA |
115. The total number of members in Legislative Assembly of Rajasthan is
(A) 200 (B) 180
(C) 160 (D) 210.
oA faurTay A F6 geed #1 den b '
LA 200 (B) 180
() 160 (D) 210.
116. In which ocean is ‘Mariana Trench' located ?
(A) Indian Ocean L,(B)/ Pacific Ocean
(C} Atlantic Ocean (D) Arctic Ocean.
form werarR # “Afer W fem € 2
(A fe= wEETR (B) W=l WeTHrT
(C) . 3 HEErR (D) 390 y& | |
117. According to arca which is the largest and smallest continents of the world ?
(A)  Africa and Australia (B  Asia and Antarctica
Asia and Australia (D) North America and Antarctica.
#rahe & SR W fava @ e w91 ol wed g W ¥
(A) W e e (B) ufem vd gtz
(C) vufern vd smfera (D) 3w IR uE wRrEfew |
118. Which one of the following is not a sphere of the Earth ?
(A) Atmosphere (B) Ozonosphere
(C) Bf@sphere (D)  Lithosphere.
frfafean ¥ & #5-w1 ©& yat = ofmvea 7@ & 2
A FgETEE B #iei e
(© 3= wvsa (D) & HUEd |

L L
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119, Marble is an example of

Sedimentary rock
Plutonic rock.

aqama?ﬂg‘—rm_
TR TTH F |

Hydration

Denudation.

HAATHLOT

BT ST |

Copper
Mica.

ra
HAYF |

(A~ Metamorphic rock (B)
(C) Igneous rock (D)
TR T 3qeT0 & |
(A) wEaRd SgH W . (B)
(©) M7 =5gH & (D)
120. The combined action of weathering and erosion is known as
A Decomposition (B)
(C) Carbonation (D)
TIEY T AT F1 WYH oA 1 FEd ¥
(A)  TEREA (B)
(C) - wHEAYA
121. Which one of the following is not a metallic mineral ?
(A)  Bauxite ' (B)
(C) Chromite
frfafed 9 @ ®i5-u1 & uias @t @ § 2
A ArFEE . (B)
(C) wrmEE - (D)
122. Which pair is not correctly matched ?
Type of Resource

(A} Non-renewable Resource —
(B} Natural Resource —_
(C) . Biotic Resource ‘ —

Ubiquitous Resource —

P # R - g e e 2 2

TUTEF & YahT
(A) oFdrETg HEeE —
B) vfas d@em —
(O 9 HEnA -
(D) FE=ATH FEYA —

Example

Natural Gas -

Walter
Forest

Copper.

ITadur
wFfaw g
EE|

EE|

dfar |

123. The concept of sustainable development is related to

(A maximum use of resources
(C) #mdustrial use of resources (D)

A Gty fara @ sEuwon W ey ¥
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(C) --tndustrigl use of resources - (D) developfnent of power resources.
Taq draoftg faera #t suwon w1 weey § o |
() FErE & eifuswan sTEm 9 (B) HENAT F T QA

(©) g ¥ s s A D) Fof HEE % e A
T Cmm - iemo

ST-2 94 W
124. One of the main causes of wildlife loss is the
L/w/ loss of natural habitat (B)  construction of dams
(C) Nood l@/ urbanisation.
I Stal & wH € F U IE A §
(A wrEfrs smEmE = T2 g @) =il @ b
() == . (D) AT |

125. In which one of the following regions of the world intensive subsistence agriculture is
most prevalent ?

(A) Temperate region (B) Mcditerranean region
Monsoon region (D) Semi-arid region.

favg o frafafaa § 9 9 @ wew § mem fafe $fy sfus gefm @ 2
(A) ¥itaTe w2w (B)  gueIEnTig waw
(C) = wEw (D) TS w29 |

126. Which landform is known as ‘roof of the world" ?
(A)  Great Himalayas \UBy~ Pamir Plateau
(C) Tibetan Plateau (D) Deccan Plateau
FA-W Y-SR fava 1 2a’ F AW | 5w o ¥ ? "
W wE femeE ‘ (B) IR F1 9B
(C) foasaa &1 v (D) =fEw %1 Y8R |

127. In which state of India 'Kal Vaishakhi' winds are usually prevalent during summer
season ?

u/W/ West Bengal \,(?B)/- Assam

(C) Orissa (D) Bihar.
v & fra o9 | ey s o wmeaad we demet’ A gedt € 7
() ofvem sme B) FEH
€ e o) fawr

128. In which area of India is 'Yak animal found ?
(A) Sundarban (B) Arunachal Pradesh
(C) Darjeeling [lpl/l.adakh.
wrea & f i F 2 vy frer ¥ 2
A geEd (B) FEMwE Wa
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wRa ¥ fam &= A a1 vy frer ¢ 2

W g=E (B) IFEUEA WA
(C) ziifem (D) wwE |
129. Which one of the following places is having manufacturing unit of antibiotic medicine ?
Hrishikesh (B) Dehradun
(C)  Shimla (D)  Chandigarh.
freafafaa § 4 f5a v R W wdamfes gmsi &1 3oes 8 ¢ ?
A FEE B) 2EUA
(€ fomen (D) HEE |

TR [ 602 | .

(W] 95 ST-2
130. In which year was ‘Consumer Protection Act’ introduced in India ?
@ 1982 . \AB 1986
© 1988 (D) 1991
wrTa H ‘3l weeo sifufiam’ faw ad 7 @) e w2
(A) 1982 (B) 1986
(C) 1988 (1) 1991.
131. Which one of the following statements is correct for the Aravali ranges ?
(A)  Helpful in rainfall (B) §uitable for hydro-power production
y Act as a water-divide (D) A barrier in transportation.
frcifafia § A F-a1 U F99 swaet Aol F fag w@d € 2
(A Tl § weEE B v faga oA F foe 37w
€ v« faves =1 FE Fa R (D) ftEed ¥ fog s |
132. Which one of the following is a traditional method of rain-water harvesting in
Rajasthan ?
(A) Tank (B) Well
(C) River \_,lBj/ Tanka.
frfafaa @ A $59- & vy § 39i 99 Guv # g fafa @ 2
) aEE S B FE
© = (D) = |
133. In which district of Rajasthan is Chhabra Thermal Power Station located ?
(&)  Kota __AB— Baran
(C) Jhalawar (D)  Sawai Madhopur.

mn%ﬁ?aﬁﬁﬂmmwmmt ?
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(C) Jhalawar (D) Sawai Madhopur.
orey # frm ot o oag o sl = Rua ® 2

@) w , B =
(©) Ty (D)  WaT AR |
134. Which of the following pairs is not correctly matched ?
Industry Location
(A) H.M.T. — Ajmer
Mall Bearing — Alwar
(C) Cement — Morak
(D) Electric meter - Jaipur.
forefafaa § @ #-m 7 € gifem 7 ¢ 2
Iem e
@) fegEm weiE 7Ew (TEed) - EELH
B) i faafm — e
© HEE — A
o) foga = - AR |

INIRRINI - | [ PT.O.

ST-2 96 . 'w

135. The main mica producing districts of Rajasthan are
Ajmer, Bhilwara and Jaipur (B) Udaipur, Chittorgarh and Rajsamand
(C) Bhilwara, Chittorgarh and Kota (D) Jaipur, Dausa and Tonk.
T A Y@ AYF SUEH ot & _-
(A) AR, HieaTsT 3 SIqK B ey, fadene st temEs
() iterarg, foxisg @i Fier (D) SR, < S S |
136. For heritage conservation, in which year Monument, Archaeological Site and Antiquity
Act was implemented in Rajasthan ? ‘
L/b(mlgel ' . ® 1971
(C) 1947 ' (D) 1952,
fotaa & Wi &9 TR, qO9N W U WA aeq sAfuftan s 9 e @ ng g ?
(2] 1961 (B) 1971
). 1947 (D) 19562, |

137. What is ‘Balad’ ?.—-——\
(A) . The tradition of Mand singing Bo nJUS

(B) A herd of bulls, on whose back commodities for sale are carried by Binjaro
(C} A synonym of ‘Aulayn’
(D) The event of taking cattle to other land areas to explore the availability of food-
water in the wake of famine.
‘AR =R 7

— LaY
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Gior  aman v aean s sy ARASAAL AU UaEvE AtAANe s ARALs Gas AAPALA L AL ST issiensasiny s assasae
water in the wake of famine.
‘AR R ?
(A)  HIE MER ® T
(B) favrami %1 98 9« wyE, faust Wie W we e faswa &g @ s s @
(C) ‘eirerg’ &1 ErEErE
(D) 37Tl We 9T HARAl &1 AN ) @IS § = -9 H o 9 R EAl |
138. Which of the following statements regarding the Rajasthan hero Manikyalal Verma is
not true ?
(A)  _He was born at Bijolia
He was a peasant in his early life
(C) He was connected with the Bijolia peasant movement for a long time
DY He became the Prime. Minister of Greater Rajasthan after independence.
TG & SAEF Ao 58 & ) # f § 9 F19-3 %979 S| © 2
(&) T S fasifern § gan e
(B) s%ﬁmvﬁaqqasmﬁaqmﬂwﬁwm
© 3 fasiferan fram A=<er | o 993 9 9rig ©
(D) = Wi & g¥arq 3 JEoR U9 & GUEHEE a1 |
139. In how many volumes is ‘Vatan ri Phulwari’ the invaluable literary heritage of Rajasthan
is divided into ? '

@ B B) 10

) 12 go,\IU/S_ (D) 16,

TSUM &1 37ed wifefeas ofE ‘g & Foaret’ faa gvel § suasy 2 2
. 8 ' ® 10

© 12 : _ (D) 16.

T | 603| -

W] 97 | sT-2
(40. In which district is the historical place ‘Mangarh' situated ?

(A) Dungarpur (B) Pratapgarh

(C) Rajsamand \_/(-B‘)/- Banswara.

ﬁ:ﬁmf’mﬁ e ‘HAg | T & few e o fem @ 2

A W B) waTE

(C) TwEE= (D) wtwarE |

[41. The study of Social Science is necessary for
L/(N/' The understanding of the soclo-cultural structure and its relation with
environment
(B) The development of infra-structure facilities
(C) The rapid economic development
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(B) The development of infra-structure facilities
(C) The rapid economic development
(D) The understanding of educational problems. '
o fagm sras = srEvawa §
(A wmfas-wiepfos dram @ 3uF vafarn | gy #) T & feag
(B) wlarm gfawst F fawm ¥ fag
() dra snfdw fawma & fog
(D) Heforr TuEnsi i G F o o
142. Which one of the following is the new concept in Social Science ?
(A)  Accumulation of factual information
(B) Study of social customs
L!Q/ The study of human relations and betterment of society
(D) The study of internatiénal relations.
Frfafas & 3 afas fagm #t 7o dvemn FA-d ¢ 2
(A) dEEEE INH B THA S
(B) wHEITS® RNl W1 AeqgA
(C)  WETE T ®1 WegyR G WO w48 g9
(D) =IO Tl 1 qgT |
/43. What is a prime necessity for a Social Science classroom ?

Site, formation and space (B) Attached library and reading room
Display facilities (D) Facilities for expcnmen'ts.
wifes faam w9-F9 1 yu Sewsa ¥ ?
(a) fefa, s @ == (B) YE&EE UE araAed &1 W g
© v W g (D)  wami %t gfawn
|44, The classroom processes in Social Science help in developing
(A) Knowledge (B) Skill
(©) EXpression \_(D)}— All of these.
wrafors fagm # wa-wy viea frefen w0 F wergs oo
w ™ (B) Femm
© s (D) v AT
rsei] |RINMIINI - [PT.O.
ST-2 98 L (W]
145. The main problem of Social Science teaching is
(A) small classrooms Bo NUS (B) increasing teacher-student ratio
(C) untrained teachers — (D)  lack of library facilities.
it faam s &1 yqa g9e §
(A) TR Fu-FE B) FAYH-8F U ¥ iz o
(€) swfafa segs (D) g gfams § )

146. Which one of the following proiect tvpes has been suggested bv Thomas M. Risk for
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(A) BR FH-FY (B) FAH-BA F9A | IIE €T
(€) wfafya s (D) g@weg gfamsi F wut |
146. Which one of the following project typcs has been suggested by Thomas M. Risk for
secondary schools ?
(A)  Social projects (B) Economic projects
Productive projects ' (D)  Environmental projects.
frefafas & @ #f9-@ & w@e & ¥R 9ty e foms A arafus faaedl § fou sfrafea
fem o ?
() wmifsw s B wfdw yrareEnd
(©) JEH gEeE (D) varERig WEeET
147. Which one of the following is the main objective of evaluation in Soctal Science ?
y Assessment of the knowledge of the students
Better classroom teaching
lCI Educational planning
(D) Social development.
frefafaa § | #15-@ w amfas faam d qes s @ g € ?

A B F A F WA (B) 3OH HU-HE AATH
(0 Hfys Frirem (D) wmifwE e
148. Which is not a characteristic of a good evaluation ?
(&) Validity (B)  Reliability
(C) Diagnosticity \_ID)/ Negativeness.
33 EAIEA F FA-6 U fadrem i € 2
() Avm B favagdram
©) Fremrems (D) FHREEA |
149, Field trips are useful in Social Science for the
(A) Evaluation (B) Empirical evidences
(C) Entertainment (D) all of these.
wmfes fagi F defta oo wandt ot @
@A) e ¥ e \_Br~ smvfas wea ¥ feg
© A F fog D) TR
150. Which type of teaching aids are most useful in Social Science ?
(A) Models (B) Museum
(C) Audio-visual aids (D) Drawing'equipment,
WMﬂMWQWWWMMB ?
(B) wHuEEH™
M e 0 g T |
RINNIiN
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